Today we reviewed the homework assignment, then took notes and completed practice on Tangents and Pythagorean
theorem. Below is the key to the homework from last night followed by the notes, practice and tonight’s homework.

Properties of Chords Name Date
Use the following image for problems 1and 2, 7. Plow could you determine thetBE = €D In the
following image? B
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1If mﬁbré 100°, what is mDC?

|60

2. If mAB = 67° and mBC = 35° What is the mAD?

360~ 69 = (91°

If mDB = 922, what is mBC?
Use the following image for questions 3 and 4, _ , V.
D a 4
C ’ ; m
A 9. If the mOE = 10 cm ard mOA = 15 cm, what s the

. R )S“‘O :5 m—B—E:S

3.W.ED & A mBG =12 yd, whatisthe mEF? 10. 1f mAB = 10 in. , mEB = 2 in., what is the mDE?

Al |

4. | EG = EF and mAB = 24 m, what is the mCD? DEz L‘ }
&L\ Use the following image fc M, 12and 13. ‘
I ion n i
/"'-'\ " !
X (00 - |
1. FmPQ = 15 in,, what /s the mRB? ;
gy 152 7.5 |
§ — 080 mAR = — QRO |
5. 1f mAB = 98°, mAB = 14 ft. and mCD = 98°, 12. 1f mPQ =90°, mQ5S = 140°, what is the mRP? |
what 's the mCD? 9(_ i
4 90490 + Mo + PP =360 |
250t EP= 360 |
6. if mAB = mCD, mAC = 104°,and mED = 100° P=H40* ;
whar 's the mAB? ¢ 13. ¥ mOB = 10 em and mAQ = 24 em, what is m0Q? |
. \ wote: Qs not drawn, Bz you mary dv.winhn) " |
10*+24 = C
100 +57 =¢*

670 =
L\ A6 =C



llowi for problems 14 and 15,

14, f mAR = 2x + 27 and mDC = 4x — 39 What is
the value of x? 2427 f—“!K-‘aq
60 = 2x
33 =X
15, If mAB = 67° and mAD = 135°. What is the
"Gt 35167 + B =360
A7 + wBC = 360
wBC= 91’
Use the following image for questicns 16-18.

B ED=AF, mEG=x+9 and mEF =9x -7
What is the value of x7

Qx-7=X44
x =1k
=—a
171§ mAF = 10x 4 2 and mBF = 8x + 8, what is the
RN RO (Cie
Jox - = B - N
2k =6 ME:Q"'
x=3

18 FEG = EF and mCD = 4x + 15 and
mAEB = 6x — 21, whal is the valug of x7
bx-2\= Ux 415

2x =306
A= 1%

19, How could you determine thal BE = CD inthe
following image? 3
(BAE = £(AD so
ﬁ?- o (D . Becorw the
s G Co

e chordS hot Foem

ws Ot Con vt
&Mﬂ@ﬂﬂe%’ the problems 20-22.

L B

5

20, fmDB = 14x — 12 and mE£B = 2x + 36, what is

mBC? o = 2x +36 ""‘szmﬂﬂm‘i’x
mDC = 8%

2 =H8
O R=A —
21. If the radius of the circlz is 15 m and mDE = 12m,

what is the mOE?
- XA +HR*=15>
'IAu
e 144 =225

=8l — m ﬁ,—E-z 9

22 fmOE = 5 and mOA = 13, what is the mDL?

4= 13
Xzl  m™PCRY
Use for problems 23 a

— g
23, f mPg = 5x + 2 and mAS = 3z + 12 wnat is the
mia?

BXTL =3x+2 TB=3(5)H-

2x =10 mRS =a7

=5 M& =R.5

24 1f mPQ = 87°, mRP = 43%nd
What is the value of x?

B1H3+87 +Tw13 =360
20 +7x =360

=7x+3

5 77X =140

X =0




Circle with center P has tangents
XY and Z¥and chords WZ, as shaown
in the figura. Thé m£ZWX = 70°.
What is-the mzXYZ9

A 200 B, 35°r C.400 D.55°

T

& Point of
"~ Tangency

If o fine {segment or ray] s tangent to a
clrcla, then it is g’d‘#n&;_r.ul_nc‘lﬂ fhe radius
ot the paint of tangency

_what formula can be wsed with a fight figngla?

P*H'bau}tm —+heona

1. Find the value of x.
412

9 2™ -x
5y +H‘l = x>

K:'L
5':::

What is the length of 'IEQ'E

576 =21x4256
220 = 3ax

Exkraor RS =TS
If two segrments from the
LMo e,rl'_“-_u'i'nr point are
) f_ﬂglﬂ:r! to a circle,
then they ana _c_n%mt

T

5 0= x




4, Find the value of x.

X+5
S
| 3x+1
wﬁ‘-’-ﬂﬂ
= ax

2 - ¥

3
l, 15

Find the value of x.

KL15= | 14x
)(T | 4x-15= V) - 15

Find the value of x. C

%2

B

@) k-15) = 0

Xt(1=0 x-p5=0

T > (f-:,?)

What is the length of NP?

\ NP=14

10



Determine if line AB is tangent to the circle. " _[-%=\NL OV | 70T
2
Y457=10*
%) 7/ [0
N AB1s ot faageat
B l

A | e
289 =89y AB s favoent
AR iz teagurt ca

Find the segment length indicated. Assume that lines which appear to be tangent are tangent.

/5’)“")(1: [7)'
D5 A=

=64
X=8




Find the perimeter of each polygon. Assume that lines which appear to be tangent are tangent.
10y

Challenge Problems: Find the angle measere indicated. Assume that lines which appear to be
tangent are tangent.

13) 3= 90+Go +75+X 1

i Fo0 =255+ X

05" x

g0 16)

126

7d f?d“f"?'fx:_%a

2o+ X =360
X= 144"

I!Iq”ﬂ- Moade wi itk Ilefinile L] ur




GSE Geometry Name

Tangents to Circles Date Period___
Determine if line AB is tangent to the circle,
2)
A 6.6 B
A/
\\ s
4)

1
' §

114

152

Y
"

Find the segment length indicated. Assume that lines which appear to be tangent are tangent.
6)

8)




Find the perimeter of each polygon. Assume that lines which appear to be tangent are tangent,

11

1)

Properties of Chords Recap: Find the value indicated for each.

13) If mAB = B4° and mBT = 45°,
what is the mAD?

15) If mOB = 15 ft and mDC = 24 ft,
what is the mOE?

14) ITEG = EF and mAE = 24 m,
what is the mCG?

— —

16) How could it be determined that £8 = DC in

in the following image?

B

/ c

11



